
® ®

Dock Accessories

SHOREMASTER.COM

DETAIL  B

DETAIL  C

DETAIL  A

Parts List
DESCRIPTIONPART NUMBERQTYITEM

RS-4 Curve Dock (sold separately)--11
RS-4 Dock (sold separately)--12
Ramp Connection Kit to 45 Curve Dock10065371--

Ramp Connection plate-A to 45 curve dock100112413
Ramp Connection plate-B to 45 curve dock100112514
Prt Plate 4.5 - Accessory Connector 100290225
Bolt Carriage 3/8-16 X 1.5 SS100195746
Nut Flange 3/8-16 Brass100180247
Ramp Clip (In Ramp Bolt Bag)100109228
BOLT 1/2 - 13 X 2 SS  (In Ramp Bolt Bag)100237929
Bolt Hex 1/4-20 x .75 SS 304  (In Ramp Bolt Bag)1000557210
T Handle 3/8-16 x 1.5x2.5  (In Ramp Bolt Bag)1000876111
NUT SQUARE 1/2 - 13 BRASS  (In Ramp Bolt Bag)1001793412
NUT 1/4 - 20 NYLOC BRASS  (In Ramp Bolt Bag)1001798213
RS-4 Accessory Bracket (sold separately)1006706114
Ramp (sold separately)--115

B

C

A

6-1/4"

Failure to follow instructions may result in 
personal injury and may invalidate the applicable 
warranty.

Step 1. Assemble side of ramp that will use the 
accessory bracket by following the instructions that are 
included with the ramp.

Step 2. Assemble opposite side of ramp connection by 
placing one of the accessory connector plates so it is 
positioned 6-1/4" back from the end of the dock section 
(as shown in Detail B). Mark and drill four 7/16" holes for 
the plate through the dock frame.

Step 3. Bolt Connection Plate-B to dock frame using four
carriage bolts two accessory plates four spacers and four 
flange nuts.

Step 4. Finish assembly of ramp according to ramp 
instructions.

15

9

8

10

63147

11

5

4

13

1

2

6

127

Ramp Connection Kit 
to 45° Curve Dock
Instructions
Part #: 1006537

Parts List
DESCRIPTIONPART NUMBERQTYITEM

Step100454941
Bottom Upright 32.0 100498522
Top Upright 34.0 100498923
Leg100567924
Left Stringer100378415
Right Stringer100378316
Handrail 4 Step100384427
Bolt Bag10044421-

Nut 1/41001797168
Nut 3/8100180389
Carriage Bolt 1/4 x .7510019501610
Bolt 3/8 x 2.01002424411
Bolt 3/8 x 3.0 1002432412
Press-In Cap1000986413

4

12

2

3

11

6

5

9
8

1

10

11

9

7

12

4-Step Dock Steps Assembly
Instructions
Part #: 1004263

13

Failure to follow instructions may result in personal 
injury and may invalidate the applicable warranty.

Note: There are three different types of accessory brackets that 
the steps can be attached to in order to be attached to your dock.
You will need two accessory brackets for the installation. Below is
a list of the three different types of brackets.

Note: In order to attach dock steps to a dock not listed above use 
two 3/8" x 3-1/2" carriage bolts and two 3/8" flange nuts 
(provided).

Step 1. Attach steps to right and left stringer using 1/4 x 3/4 
carriage bolts and 1/4 hex nuts provided.

Step 2. Insert top uprights into top pockets of stringer and 
secure on the bottom using 3/8 x 3 hex bolts and 3/8 hex nuts.

Step 3. Insert bottom uprights into bottom pockets of stringers, 
fully insert legs into stringer pockets and bottom uprights, secure 
the uprights and legs using 3/8 x 3 hex bolt and 3/8 hex nut. 
(adjust height of legs after connecting stairs to dock frame.)

Step 4. Connect stairs to accessory brackets using carriage 
bolts and nuts. (see accessory bracket instructions.)

Dock Type  Bracket Part Number
RS4 Dock  1006706
RS7 Dock  1006708
TS9 Dock  1006730


